Use elimination to find the solution to the system of equations.

3z — 3y = 97



The following system of equations is graphed below.

3x-2y=14
2x+3y=5

Find the solution to the system.

A. x=4y=-1
B. x=4,y=1
C. x=-4,y=1
D. x=-4,y=-1
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Solve for y in the two equations below using sglostitafion.
S5z — 10y = 25
S5z + 10y = 125

Ay =2
B y = 10
c. ¥=25
D_y:15



Use elimination to find the solution to the system of equations.

—$+2y:6



The following system of equations is graphed below.

-4x -3y =-35
-2x + 5y =15
Find the solution to the system.
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A. x=6,y=5
B. x=5y=6
C. x=-4,y=1
D. x=5y=5



Use elimination to find the solution to the system of equations.

S5z + 4y = —53
4r + by = —-55

63
A p=2y=-8
B T = -5y = -7
Cx:—%iy:f-}
43



r 4+ 2y = -2
2r +y = 8

The system of equations above is graphed below.

Find the solution to the system.
A T =6y= -4
B ¢ =0y=-1
c. T =2y= -2
pp £ =-"4y=1



The following system of equations is graphed below.

Find the solution to the system.
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X=6,y=2
x=5y=3
x=5y=2

X=2,y=95

-3x - 3y =-21
-4x + 2y =-16




The following system of equations is graphed below.

2x-3y=4
2x + 3y =-20
Find the solution to the system.

A. x=4,y=4
B. x=4,y=4
C. x=4,y=-4
D. x=-4,y=4



Use elimination to find the solution to the system of equations.

6z + 4y = —38
2z + Sy = =51

A $:41y:_%
B x:—l,y:—%
C x:—%ly:3



Use elimination to find the solution to the system of equations.

Sz + 4y = 22
4z + Sy = 35
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Use elimination to find the solution to the system of equations.

Sz + 3y =17
St — Ty = —23



Solve for x in the two equations below using substitution.

122 + 3y =12

2z + 3y =8
2
A r = g
_ 10
B r =75
C :I::2



Use elimination to find the solution to the system of equations.




Use elimination to find the solution to the system of equations.

2 + 4y = 44
dr — Ty = —47



